

(5 x 1 = 5)  1

 ____________ 



 i

 ___________  ii

 ____________  iii

 ___________  iv

 ___________ 



 v


(5 x 3 = 15) 

 Correlation 



 2





 3
 4
 



 5
 Regression  6

 Time Seires  7
 8

 Index Numbers  9
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
(2 x 5 = 10) 

 Index Number  10

 (Index Number  11

 12

 


 13




39 65 62 90 82 75 25 98 36 78




47 53 58 68 63 68 60 91 51 84





 14

X 60 34 40 50 45 41 22 43 42

Y 75 32 34 40 45 33 12 30 36




